C:# Multiplying Decimals Name:

Solve each problem. Answers

EX) A box of folders weighs 4.3 kilograms. If you have 4 boxes, how much would they
weigh? = Y

1) A jogging path was 3.6 meters. If Roger ran around the path 3.03 times, how many meters
total did he run? 2

2) After adinner party there was 0.33 of a pot of stew |eftover. If the Roger gave 0.4 of the
leftover to Bianca, how much of the original pot did he give to her?

3) Biancacan read 3.05 pages of abook in aminute. If she read for 2.3 minutes, how much
would she have read?

4) Bianca needed 4.9 meters of thread to finish a pillow she was making. If she has 4 times 7.
as much thread as she needs, what is the length of the thread she has?

8.
5) Biancamade spicy and regular chili for the chili cook-off. She made enough spicy to fill 9
up 0.24 of a pot. If she made 2 times as much regular chili, how many pots of regular did '
she have?
10.

6) On Halloween 4 friends each received 0.10 of a pound of candy. How much candy did
they receive total ?

7) Biancawas packing up some of her old stuff into abox. If each box could hold 0.8 of a
pound and she packed 2 boxes, how much weight did she pack?

8) A bottle of sugar syrup soda had 2.03 grams of sugar in it. If Roger drank 2.19 bottles,
how many grams of sugar did he drink?

9) At the zoo the polar bears are fed 0.21 bucket of fish a day. The penguins are fed 0.5 that
amount. How much of a bucket are the penguins fed?

10) At the animal shelter 0.98 of the animals are cats. Of the cats 0.2 are male. What amount
of the animals at the shelter are male cats?
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Ch Multiplying Decimals Name: Answer Key

Solve each problem. Answers
Ex) A box of folders weighs 4.3 kilograms. If you have 4 boxes, how much would they
Wweigh? . 172
1, 10.908
1) A jogging path was 3.6 meters. If Roger ran around the path 3.03 times, how many meters
total did he run? 2 0.132
3. 7.015
2) After adinner party there was 0.33 of a pot of stew |eftover. If the Roger gave 0.4 of the
leftover to Bianca, how much of the original pot did he give to her? . 19.6
5, 0.48

3) Biancacan read 3.05 pages of abook in aminute. If she read for 2.3 minutes, how much
would she have read?

6. 0.4
4) Biancaneeded 4.9 meters of thread to finish a pillow she was making. If shehas4times || 7. 1.6
as much thread as she needs, what is the length of the thread she has?
8. 4.4457
5) Biancamade spicy and regular chili for the chili cook-off. She made enough spicy to fill 9 0.105
up 0.24 of a pot. If she made 2 times as much regular chili, how many pots of regular did '
she have?
10. 0.196

6) On Halloween 4 friends each received 0.10 of a pound of candy. How much candy did
they receive total ?

7) Biancawas packing up some of her old stuff into abox. If each box could hold 0.8 of a
pound and she packed 2 boxes, how much weight did she pack?

8) A bottle of sugar syrup soda had 2.03 grams of sugar in it. If Roger drank 2.19 bottles,
how many grams of sugar did he drink?

9) At the zoo the polar bears are fed 0.21 bucket of fish a day. The penguins are fed 0.5 that
amount. How much of a bucket are the penguins fed?

10) At the animal shelter 0.98 of the animals are cats. Of the cats 0.2 are male. What amount
of the animals at the shelter are male cats?
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